» T pase S}

U g 4 T S 00PN = Yo 8 1qa0 @m — =2 93 (M / 7on Aok

ST79T  C0'S9Z'99T  HEY 000 000 0 0 v9eee (2061085 0 LTLT  6E.G  EI€T SIv10L
SY'TET S8'¥80°T 6 000 000 0 0 TTLET  00°0S€TC 174 TL9EC  S8pEV'ET 0 1€ ST'9.L 66 NHLE£T0Z/1E/80
LIETT  9TOTLT g 000 000 0 0 0596 00°Z80°9T 59 € ITvEC  9T'T6L'LT 0 ¥S  9¥'8S 9. (QIMETOZ/0£/80
9 TIZ  052£5C 71 000 000 0 0 €C98T  00'SSE'ST S9 0 LETET  0S'T68IT 0 €S €T6S LI INLETOT/6T/80
167002 15+10°E ST 000 000 0 0 TYEIT  00LLLT €1 0 ¥8'90T  LST6LS 0 0T ¥STC 87 NOW €70Z/8Z/80
TTE0T  SO'SPB'T ¥T 000 000 0 0 SPTIZ  007T9T9 1z [4 vP'60Z  S0'900°6 0 L8 80'€E  €F NNSE£L0Z/LE/80
1566 €9%19'S 6T 000 000 0 0 l9TIZ  00°0SE9 k4 € 8TYPT  €9196°TT 0 T8 69,6  6Y  LVYS€Z0¢/97/80
19L2E  8€695'S LT 000 000 0 0 [9TIZ  00°0S€‘9 9 ¥ 09'€SC  8E'6T6TT 0 €8 GT'9€ [y 144 €£202/ST/80
§0°LTC  95'/8€T 1T 000 000 0 0 L9TTZ  000SE9 9z 4 TTETT 9G°LEL'B 0 68 ¥STE TP NHLET0T/bT/80
0L°L1T ST'0E8'C €T 000 000 0 0 TTTIZ 00°€0L’S 1T 0 EE'ETT ST'EES8 0 06 LL'OE Ob d3IMETOZ/ET/80
6LEEC  T6'S96'E T 000 000 0 0 TCIIL  00°€0LS X4 0 G612 76'899'6 0 98 S8'EE  ¥¥  INLETOT/TT/R0
1€°6¢C 6T 0E8E LT 000 000 0 0 000ZZ  00°000°TT 0s o SE'TZC  6T0£8VT 0 €9  ¥S'IS 19 NOWEZ0L/TZ/80
€9°6£C  STbER'S 9T 000 000 0 0 80YIZ 00TEYZT 85 1 ¥S6IZ  ST°S9b'9T 0 S5 692§ SL  NNSE£20Z/0T/80
L0ZZE  90°'TERY ST 000 000 0 0 l8VIZ 00'GIT9T 65 91 €L°TET  90'9¥6°0C 0 OF €769 06  1¥SE€Z0Z/61/80
89'/7¢  T/9ESL €2 000 000 0 0 80'STZ  00°9T6'ST 65 ST 8/°TvZ  TLTSKEC 0 €€ ¢9¥. L6 144 €207/81/80
LL'8€T EV'SLLY 0Z 000 000 0 0 TTTIZ 006861 79 6 6T°LTC  E¥'¥9L'6T 0 6E  00°0L 16  NHLEZOZ/LT/80
85" vT SPPTIT9 S 000 000 0 0 9£0TT 00V88'ET 4] 14 9L'61C  5v'866°6T 0 68 000L 16 Q3IMETOZ/9T/80
1€057  89'65L°L 1€ 000 000 0 0 L0VTZT  O00'EPEDT 9 3 ¥S'SCT 89°T0T‘C 0 € 8€'SL 86  INLECOT/ST/80
8G'8EC TV I8K'S €2 000 000 0 0 6T6TZ 00°0SE‘ST 59 S 90vTT  Tr'LES'OT 0 L ¥STL €6 NOWEZ0Z/v1/80
Wver  TCoTT'y 8T 000 000 0 0 LT0EZ 00°ECLLT SS [44 86°0£C  CTEVETT 0 SE  80EL  S6 NNSELOT/ET/80
106567 8T'S61'9 1 000 000 0 0 8LTIEZ 00°€E8KTT LS o VO'EFT  8T'8L9°8C 0 TT 1L°06  S8IT  1VS €207/21/80
LS66T €Y' T66'C 0C 000 000 0 0 0LT€T 0080¥'TC 65 €€ YovrZ  ev66£LT 0 8T ST'98 CIT |44 €20Z/11/80
116G 99°€66'9 8Z 000 000 0 0 T90£T  00°86T+T S5 L LS9ET  99'T6TTL 0 or €769 06 NHLETOZ/0T/80
0€'6vT  LO'9LP'S vE 000 000 0 0 GS'6ZZ  00°679°CT s 1 60°LET  L0°TOT'TZ 0 v 9¥'89 68 QIMETOL/60/80
PE'SSZ  09°€8E‘9 ST 000 000 0 0 96'67Z 00'846°TT 15 1 07867 09°TPE'ST 0 €S €C6S L. 3NLET0T/80/80
T9°18¢ 8L LT 000 000 0 0 T¥'8ET 00°€S0'y 91 1 107097 wove's 0 96 519 vE  NOW £20Z/L0/80
6T°0.Z  TYE98'y 8T 000 000 0 0 €9v€C  00'80S°'L 1T 1T VIV TYTIETT 0 08  9t'8€ 0S  NNS £20Z/90/80
96'€5€  b0'L5S'6 LT 000 000 0 0 T¥YEZ  00'6vSOT X4 8T ST'6LT  $0°90T°0T 0 85 BESS  TL  1VS€202/50/80
96'L5€  OT'6PG'S S 000 000 0 0 887 00'T06TT 9¢ 91 BL'0LZ  0T'0S807 0 €9 €T6S  LL 44 €20Z/0/80
¥9°GG57  86'06£'9 S 000 000 0 0 $SLTZT  00°GLSVT 9g 1€ 68°,CC 86759607 0 8¢ [L'0L 76 NHLEZOZ/£0/80
9€'€ET  TO'TOL'L €€ 000 000 0 0 TLTIZ 00°9S8TT 9 0T vL'61C  10°.65'6T 0 Tr  9¥'89 68 (IMETOZ/T0/80
SSLEC  €8'9C0%6 8¢ 000 000 0 0 t¢00Z  00°808°9 ST 6T €6'6TC  E8'VER'ST 0 8S 8E€'SS 7L  3NLELOZ/TO/80
SWOO0Y 1¥NAIAIGN] SWOOY INAWLOTIY SWOOY dNOYH SWY Tv10L 000 SWY'TAY %DJJ0 SWi 11va

93uey ajeq Ag s)oog ay) uo ssauisng

3 \V ejjor e eas ay1 Aq uu



